5.67 =5+0.6+0.07

34.09 = 30 +| |+ |
@ 3,09 @ 3,0.09 @ 4,09
®)4,0.09 ® 4,2.09

34.09 = 30 + 4 + 0.09
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(2) 120.84

(1) 5.64

® (1) &=AF (2) Lol FEAL

T

ol
e

(1) 5.64 - 27 SA}




® 64,6.4,70.4 @ 64,64,128 (3)64,0.64, 3.64

@ 64,6.04,70.04 ® 64,0.46,64.46

364 =3+ o4 =3+0.64 =3.64
100 100 T




10. &4 57 2] 57} ek 57k 71 2he S ol AU

® 12.791 @ 3.407 ® 7.123

@ 40.132 ® 0.684

24 B AE] =247 YEilE S
D9 @0 B®2 ®3 Gs8YYrh
webA 71 2He = o Juytt




11. o= 0, O 5012 ¢¥2 52 #edi=

5434 - @ -5.436 - © — 5.438

® 5.425,5.427 ®@ 5.434,5.436 @5.435, 5.437

@ 5.434,5.435 ® 5.235,5.237

0.001 &] 221 ¢] s=27F 14 - Y.
@ = 5.434 + 0.001 = 5.435
© = 5.436 + 0.001 = 5.437




12. tg2 HEA A4St L.

(1) 0.2-0.1

(2) 0.8 0.6

@) 01 (2) 0.2
® (1) 0.3 (2) 0.15
® (1)0.3(2) 1.5

@ (1) 0.1 (2) 1.5
@ (1)0.3(2) 0.3

(1) 0.2-0.1=0.1
(2) 0.8-0.6 = 0.2




@ (1)1.2 (2)213 @ (1)0.12 (2) 2.013
@(1) 0.012  (2) 2.013 @ (1) 0.120 (2) 2.13

® (1)0.12 (2)2.130

B

12
(1) —— = 0.012
1000
1
@22 —9y B 9 g013=2013

1000 1000




@ (1) 6 (2) 32 @ (1) 0.6 (2) 32
® (1) 0.6 (2) 0.32 @ (1) 0.06 (2)3.2
@) (1) 006 (2) 0.32

B

(1) 1m = 0.001 km
60m = 0.06 km

(2) 1g = 0.001 kg
320g = 0.32kg




@® 0.345, 0.352 ®@ 0.345, 0.353 ® 0.345, 0.354

@0.344, 0.354 ® 0.346, 0.355

B

0.34 2} 0.35 Afo] & 10 Zto 2 Yiegloa g #o = g} 719
37]%=0.001 YYtt.

whebA WA [ ] 0.34004 22 F 47HS A 9H 9
Qlom & (.34 + 0.004 = 0.344 Yt}

FAA [ = 035004 22 =3 43 A JA] o] glon
2 0.35 + 0.004 = 0.354 YUt}




16. o 5 F 49 ol 1 B} 2 22 of= AJY7L?

@® 0.70 + 0.29 @0.39 +0.62 ® 0.62 +0.37

@ 0.51+0.48 ® 0.54+ 045

D 0.70+0.29 =0.99 @ 0.39 + 0.62 = 1.01
® 0.62+0.37=0.99 @ 0.51+ 0.48 = 0.99
® 0.54 + 0.45 = 0.99




(1) 5.98-3.79 (2) 4.71 - 2.69

D (1) 2.29 (2) 2.22 @ (1) 2.29 (2) 2.12
@ (1) 219 (2) 2.22 @ (1) 2.19 (2) 2.12
@) 219 (2) 202

(1) 5.98 - 3.79 = 2.19
(2) 4.71 - 2.69 = 2.02




18.

[ Joroll dgre 5 Atz A2 Ag T2A Q.

15.333 — 10.666 — 2.888

=[ ]-2888=[ ]
@ 5.667, 2.779 @ 5.667, 2.778 (3)4.667, 1.779
@ 4.667, 1.778 ® 4.677, 1.779

15.333 — 10.666 — 2.888 = 4.667 — 2.888 = 1.779




19.

ot

5 40] go] 1 Bk 2 22 o AYUIR

@® 0.36 + 0.58 @ 0.52+ 047

@ 0.327 + 0.49 ® 0.8+0.15

@ 0.73+04

@ 0.94 ® 099 ® 1.13 @ 0.817 ® 0.95




20. theg uled A4 AL LEAQ.

(1)5.137-4.56  (2) 6.319 — 4.722

D (1) 0.571 (2) 1.597 @ (1) 0.571 (2) 1.587
® (1) 0.571 (2) 2.597 @) 0577 (2) 1597
® (1) 0.577 (2) 2.597

(1) 5.137 — 4.56 = 0.577
(2) 6.319 — 4.722 = 1.597




21. [ |orol ggre g w79 g 12X L.

(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9

® (1) 14.84 (2) 30.9 @ (1) 14.85 (2) 3.18

O

®)(1) 14.86 (2) 3.18

(1) 13.7m + 1.16 m = 14.86( m)
(2) 0.28m +2.9m = 3.18(m)




22. theg uled A4 AL LEA Q.

(1) 7.81 4 2.89 - 2.31 (2) 3.334+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82
@) .39 (2) 5.92

(1) 7.81 +2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.33 +11.32 - 8.73 = 14.65 — 8.73 = 5.92
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24. AXY AL A2 AFH AR 7|98 2 e e e

@ 2.68 +2.576 © 094 +4.17

© 6.213 -1.865 ® 8-2111

® 60-0e@ @606 @ 0e60e
@eoc6e 6 e0eo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 — 1.865 = 4.348

® 8-2.111 = 5.889

£40] 27)% AHQS HBo] 248 A1, A4 PO A4
) A, BA) AL, AR Ahe) 0] 202 2712 Hwgh .
webd Ag 2} A ARH A 1 EE AW ©-0-0-@
o] B},
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Bl M 57k dEilE 27 4 2 2 ez 2 2
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@ 25.179] I—OOL - © 0.529°] 100H1Q1 4=
1

© 623.59] 00 Q4 @ 3.005°] 10H1QI &=

® 9660 ©606ee 0066
@o6ee 6 e6eo

~&B

@ 2.517

© 52.9

© 6.235

@ 30.05

27} 57k Vb 52 242t 15hd
@ 0.5 © 50 © 0.005 ® 0.05
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